MAT122 Homework 5: Solutions

2.5.7. () >0, f'(z) >0

2.5.8. fz) =0, f"(z) =0

2.5.9. F1(z) <0, f"(z) =0

2.5.10. Fl(x) <0, f(z) >0

2.5.11. f(x) >0, f"(x) <0

2.5.12. fl(z) <0, f'(z) <0

2.5.13.
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= lim 5(t 4+ r) = 10t
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MAT122 Homework 5: Solutions
Find the derivatives. Assume a,b,c, and k are constants.

3.1.7. y=2z'?
y = 1221271 = 1221
3.1.11. y = z¥/3

4 4
r_ F 4/3-1 _ F 1/3
y =37 3%

3.1.13. y =g~ 3/4

Yy = 1 1
_ -
3.1.17. y = 7 r
y = 7 —7/2—1 Z —9/2
2 2
1 1 1 1
3.1.21. f(zx) =4/ = = V1 = — — p3/2

3 V3 (:v3)1/2 3/2

1
3.1.27. f(z) = 52t + — = 5rt 4+ g2
f'(z) =5 423 + (=2)273 = 2023 — 2273

3.1.33. y = t3/2(2 + V1) = t3/2(2 + t1/2) = 2t3/2 4442 = 243/2 4 2
y =2 gtm +2tt =3¢ /2 4 2t
ar+b ax b

3L f@) = T2 = 2 g

ff(x)=0+0- (—1)90_2 = —bx 2




